The et b
B Tighy

(A puaraniesd 1 eveny bl
(LLE fres

Tivem BRI and union 1

divim Euarantensd to ¢ iirens vy

) 1o equating e fore law

N e 1ige and Personal liborty

: )

Hant W g gy 1 wftrary faw gan w

Mittgnr )

(A ve vty & Pt vyinfrem sfirgre

LTI I P % fam uiafimn vtam
witymry

(C) 192 & wwut wwrrn w0 aoftomn

(D) e shr Apw vt w1 sftren

Ozone hole refers 0
(A
(R

hole in ozone layer

decrease in the ozone layer in
troposphere

(C) decrease in thickness of ozone layer

i strmtosphere

increase in the thickness of ozone layer
n troposphere

A A A smarad ¥ 7
(A) 3o qTm o By
(B) snvmeea ¥ Al Ot w1 w9 6

(C) wwam weed o =R gta & "z &w
A

(D) wiwved ¥ S @ B AR i
2|

(D)

United Nations Day is celebrated on 7

(A) 24" October

(B) 22" October

(C) 21" September

(D) 227 November

wqw g w feaw @w W L

(A) 24 smgar (B) 22 9t
(D) 22 7t

o

ke 5

n

Mateh Distd with Lastdl and celec

correct antwer uning the code given be

i) List- 11

(Tiger Heserse) (Sate)

A Indravat | Karnataka

b, Pervar 1. Odnha

¢ Simlipal 3. Kensla

d. BDandipur 4 Chbattisgan

Codes :

(A) a1, b2, ¢-1, 44

(M) a1, b3, -2, d-4

(C) a4, b-3, ¢-2, d-

(D) a4, b2, ¢, d-1

-1 ® @ -1l & qafem i ot 5z =
wdin w1 wh e o

-1 (wu sl dw)  pR-11 Gr=)
n. YA |, wATS
b, aftar 2. i
c. fowhwm 3. T
d. =g 4. ol
¥

(A) a-1, b-2, c-3, d-4

(B) a-1, b3, c-2, d4

(C) a-d, b3, c-2, d-1

(D) a<, b2, ¢-3, d-1

Which instrument determines specific
gravity of hquids 7

(B) Hydrometer
(D) Hypsometer

(A) Gravimeter
() Hygrometer

a4 w1 e e wendd ¥ fefarez e 9w
k7
(A) Tz (B) wgEH

(D) fmiTzT

| Contd... >
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Match Listel with Listl] and select the | 9

correct answer using the code piven below
the lists

List-1 List-11
(Industry) (Location)
A, Railway 1. Kuchi
cquipments
B, Automaobile 2. Ludhiana
€. Ship-building 3. DBhilaj
D. Dicyele 4. Jahalpur
Code :

(A} A3, B4, C.), D2
(B) A-3, B-1, G4, D2
(C) A-2. B-1,C4,. D3
(D) A.l. B4, C-1, D3
1 B -1l & i i ahe et
¥ fan M gz & WM FT ER T g

-1 11

() (smafrat)
A. Y ImETme -l wiEm
B. izt /<i\ gftrrn
C. vm-Pmfw 3. fiend
D. wwiEn 4, T
k&

(A) A-3, B4, C-1, D2
(B) A-3, B-1,C, D2
E) A2, B-1,C4, D3
Dy A2, B4, C-1,D3

Plants absorb dissolved nitrates from soil
and convert them into

(A) Free nitrogen (B) Urea

(C) Ammonia (D) Proteins

dvit frdl @ A yu T @ oraifE B

aw % frafda v 2@ ¥
(A) y# Tz 4 (B) gftm A
(C) wmifran & (D) wém o

Pollination by wind is called :

(A) Autogamy (B) Entomophily
(C) Anemophily (D) Omithophily
wa @ g e ¥

(A) w@gmA (B) #rzyrrm
(C) argr (D) sftryerm
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10

11

12

VUVA™ . A ol devel gl pregreme
unidee Prachan Mantry K pavha! Vikas YVosane
hat been Lauie hedd by

(A) National kil [kenel petag et

Corpatation
(B Confederation of Indun lndustes
(C) Home Minisiny
(MY Delti Palice
qm ™ B Tra okt e fanim wew
¥ uta ox oy fremy wndpw } fgow
zm gt fym o b G
(A) T Wy frem wiafs
(R) ®Fkshm i g el
(C) 78 wwTm

(D) fo=t gPom

Which state is a major producer of saffroe”
(A) Kenala

(B) Punjab

(C) Jammu and Kashmir

(D) Gujarat

#q7 %1 qom SArs T B w7

(A) & (B) e

(C) 7 @ wFT (D) T

Sattriya is a classical dance form of which
state ?

(A) Manipur

(B) Uttar Pradesh

(C) Assam

(D) Andhra Pradesh

‘wAm Pe T @ e g d 7

(A) witrg (B) 39T 93
(C) arem (D) srg Wi

The first fertilizer plant in India was set up
at

(A) Ballarpur (B) Sindri

(C) Belagala (D) Rajahmundry
WTTA &1 WM 34T W wia e o -

(A) TFTYR (B) fazh
(C) e (D) Tenh

Contd... J
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13

lsotope of an clement refers 10 the -

(AY Aroms of tha vlement having different

Mass numbeps
(M) Aroms of that
mass numbers

Atoims of thar ¢lement hay ing different
atomie numbers

clement having same
(C)

(1 -'-.Ium_.u. ol that clement having same
atomic numbers

P 7 & werfa o A )

(A) T8 A7 & & qruTY fard) wapoa sem
NET-NET B

(B ahaat&mqqfhmmwﬂm
U R

(C) 3% &= & & qoumy Pt qoam wen
SR - R
(D) 78 77 & 7 woamy Pl wowm wen
A A

14 Which of the following Sikh Gurus started

the Gurumukhi script 7
(A) Guru Angad Dev
(B) Guru Arjun Dev
(C) Guru Nanak
[D]ﬁﬁuru Gobind Singh

Frefafaa & & fon firve e 3 g fafy 2

ST A7
(A) Tx Mz 23 (B) 7% asfa 2a
(C) T 7% (D) 71 Mgz fig

15 Read the following statements and select

the correct answer :
Statement (A) :  Rivers flowing from
Himalavas are
perennial rivers,

Reason (R) : Sources of Himalayan
rivers are located in
olacier.

(A) (A) and (R) both are correct and (R)

supports (A)

(B) (A) and (R) both are correct and (R)
does not support (A)
(C) (A) is correct and (R) is wrong
(D) (A) is wrong and (R) is correct
fr wamralt o1 faame &0 Wi gan w1 A
i
A (A) - Terrrs & Frgert aeh aftal areamd
e ¥
& (R) : frgrdy Afagi @1 37 o R
q frga &
(A) (A) 2T (R) = wh 2, ol (R), (A) %
gfez #var ¥ )
(B) (A) 3ht (R) 2zt wh &, sfr (R), (A) &
qfez =f v b
(C) (A) mh & ahy (R) mora |

19

(D) (A)ma & it (R) @it &

In how many states must 4 political pan

be recognized as a party 1o become

4
natioeal party

(A) 4 atales (H) H stales

(C) 9 states (D) 12 states |
fard of reAfrE ga ) Tefia oM W g
fxma rrmn | WG a=h b 7

(A) A 1M (B) 6 T

(Cy 9 mwa (M 12 7=

In which of the following ﬁdd.'. was
first co-operalive movement in lnd
nitinted 7 _

(A) Agricultural credit

(B) Farming activities .

(C) Consumer co-operation

(D) Agricultural marketing _
fyefurfias & & fe1 g3 o wrTa § 9 weeo
FEAWA w WO g om 7

(A) pfa =m

(B) o Fr niafatia

(C) wemril TaHrF

(D) g faaem

‘Nimoo Bazgo® dam is situated on which -
the following rivers ?

(A) Indus (B) Kowvna

(C) Barakar (D) Perivar

“Fg e s =iy Peleiga § 8w =
Haraorfemk ?
(A) Ty

(C) =ret

(B) =@
(D) st

Rise in the price of a commodity means

(A) rise in the value of currency only.

(B) fall in the value of currency only.

(C) rise in the value of commadity onh.

(D) Fall in the value of currency and rise
in the value of commodity.

R arg & Brig A gfn § 3 oA t

(A) ®ua ya & gy § g

() &as sy & wEu N firrge

(€) ¥ oy & wea ¥ gfn

(D) g & g ¥ firrae ofvt =g & e @
yfa

st P e | (1

4 w9

lllllllllll'llIlllIllllllllllauinn--'.l(-.
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200 Whi
ch one of the T
- + followin H .
areanizations g parties ofF 24 ( .
I)rE .-\J:i:-:,;:"lf' ! was not founded by “‘-';""":“ - F:””m"g porecoRibin:
’ ar £ asceruddin Shah
{r\ D H oyt [:1] ‘."”'-h .
} Dalit Mukti Morcha (3y Dolly ]hh*:::.mi
) . e

(B) Samata Saini
Sainik Dal (4 _ Mabarand Deshpande
Which among the above are related to

C d r ¥
l ‘ III Cm“d:l“ l.-ﬂh“' [ ﬂﬂ}' calrc
l‘l atr )

(DY The .
he Republican Party of India (A) (1), (2) and (1) Iy
. J iy on
(B (1), (3) and (1) nnly

mﬁ' A at-f e . 3Rt
t a A fsam @ r? (Cy (1) {2y and (1) mﬂy
(A) =fa gfw = (D) All of the above
(B) e fE ﬁﬂzﬂfgﬁwrfﬂw Bt
() b (1) ? Lae B (2y frba P
Ferad (3) =is A= (4y wEe s
{D)Hﬁqﬁq’ﬁmﬁaﬁmﬁm sﬂfiﬁahfmxnl}-@gﬂ,?
- (A) ek (D). (A

(B) fak (1), (3) 3 4)
() fad (1. (24 (4

21 Whic!‘l method of water parification does
not kill micro-organisms ? (D) S ol
{g} Boilin'g . (B) Filtration
(C) Chlorination (D) UV-radiation 25 The Mahatma Gandhi National Marine Park
is located in :

A-gi & FA-E A gl @ T2
(A) Pirotan Island

(B) Rameswaram

=i ST
(A) wamw B) FrE (C) Ganga gagar Island
— (D) Port Blair
(C) FEAHTT (D) e e | e e T o i e B
(A) frtie 9 (B) AT
pL stands for ? (C) T p (D) 9 @

22 What does the term NS
(A) National Safety Depository Limited ) . I
26 The creation of something from pothing 15

(B) National Securities Development against the 1w of
(A) Consiant proportions

Limited
(C) Natural Safety Development Limited (B) Conservation of mass-energy
sitory Limited (C) Multiple proportions

D) National Securities Depo
(D) Conservation of momentum
¥ sz b?

Jr:JSDLﬁrW“-’.TH%— @Uﬂﬁﬁﬁaﬁtﬁmﬂﬁﬁ‘m
(A) %&HT‘[?@WW (A)ﬁ-ﬂamﬁma
(B) Agre A gqmriie ffies Jﬂfmﬁﬁﬁzﬂmm
(C) e &S z faftiee (C) ferr T

. (D) & U

aes not Pass through which

ies 7
() Mexico

27 The equatof d
23 Itching due to insect bite i caused bY of the Tollowing countr
(A) Kenyd

(A) Formic acid (B) Acetic acid : )
s A : e aci (©) Indonesia (" Brazil
(C) l.actic :am (D) Malcr acid A k;“ i 2 fiow 20 S g i
a?ﬁﬁarﬁﬁﬂalﬁtqmﬁlﬁmﬁmwﬁﬁlt? ot b ?
(A) i () uAfch ¥ (A) & o A
(C) #fwed & (D) g (C) el (D) A

5 ‘Cnmd...
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I8 The first nuclear disaster ogeurred in the
history of the world on -
(AT Avgust 16, 1045
{1 August 26, (4%
(C) August B, w15
(1} Avgust 6, |05
Poram & gfvere o qesir qrse se wa gf AP
(A) 3 16, 1945 (B) s 26, 1945
(C) srrr 8, 1945 (D) w6, 1945
29 Transfer pricing is related 10 which of the
following »
(A} Pricing of gencric drugs
(B} Government budgeting
(C) Taxation and accounting
(n) Iransterring of funds from one account
o mother
BT g ar ven P 4 @ frag ¥ 7
(A) wimrar =mat % = fyutm &
(B) wram % g9z &
(C) #1 7 gz &
(D) 5w ¥ 701 = & 467 =1 weiACr
w1 A

30 In which states of India is maximum area

irrigated by tube wells 2

(A) Madhya Pradesh (B) Bihar

(C) Unar Pradesh (D) Rajasthan
R & fo e walfes fvard egede

£ ey & ¢
(A) g wig (B) fagmt
(C) war wia (D) Trorem

31 The language of discourses of Gautam
Buddha was
(A) Prakrit (B) Pali
(C) Magadhi (D) Sanskrit
M gin % ware A e w7

(A) urga AB)
(C) wnsh (D) wgq

32 World AIDS Day is celebrated on which
date ?

(A) |2t January

(B) 1% April
(C) 1" May

P71 December

faza vrgw foaw Pfafns 4 & frw arig &)
W srar b7
(A) 12 Frerfy (B) | aw

(C) | wd (D) | femar
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34

35

36

o

owing is/nre tlc;nnm._-h“
efence 7

af Defence

ol Defence Researg), any

Which of the foll
in Ministry aof [
I, Department
3 Department
T Des elopment
3. Department ©
4. ncﬁmucm of Defe e Enas
Select the correct answer " s

 Defence Producy,,
nce Finange

iven below :
?:;Illl-:ll::“l' only (B) 1,2 n-_:m 1

c)y 2.3 and - (D 1 only
;&ﬁﬁ:ﬁﬁﬂ'm et samea i frvn

I, e fawm
e arpeieT A faET Feruray

.

3, Tem gemEA P

A, vem e Ry

fe Py o gz B WEM HT FE ITAC A
(A) Faw | aft 2 (B) 1,233
(C) 2,33t 4 (D) &34 1

In which one of the fol]uwin_g ciliels,
Bangladesh will open a new Diplematic
station ? .

{A) Chennai (B) Kochi

(C) Hyderabad (D) Bengaluru
Pt 4 | e set o aierag B
Pl o (Feeiids wed) S =@
(A) @=§ (B) =f=

(C) ¥ (D) FTeg=

Who was given 'Dhyanchand Award 2017
for Football 2

(A) Sayeed Shahid Hakim

(I3) Anwar Ali
~AC) Robin Singh

(D) Narayan Das

AT 'TT e 2017 | ey wen
fea gy 7

(A) ¥uz mfiz wm  (B) arrre oy
(C) ufaw fiie (D) ARmm =

The annulment of Partition of Bengal was
done by :

(A) Lord Chelmsford (B) Lord Hardinge
(C) Lord Curzon (D) Lord Minto
M & e ) T fFm o -

(A) w1 S g (B) =€ aifdw 7
C) " wmau (D) & Rt 7

| Contd...
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41

What 15t
miﬁ 1_‘ %Rf name of the workd's smallest
spececranl lsunched by the Indian rocket ?

:é: :'_1:\;.-.‘1‘13:'4 iB) Bhaskam -1l
L tj_lr:-s__. - _ (D) INSAT - 1A
_"-_“_--“‘F-- < B e T Iy F wed o aehw

T =SS &=t ¢

i-i\l SOy (By wst - |l
0y =ZF (D) &=z - 1A
‘ﬂ:!‘l._i:h one of the following estimated
wNanenal Income for the first ume in India?
{A) Dadsbhai Naomoji

(B} Annic Beasant

(C) M. K. Gandhi

(D) Jawazharizl Nehru

= & T T TS TiE &g A agwha
oot

(A) ST S (B) T &

(C) =E=n R (D) AT AT

Who was called Frontier Gandhi' ?
(A) Rajiv Gandhi
4B) Khan Abdul Gaffar Khan

(C) Lizquat Ali Khan

(D) Ram “{znohar Lohia

-

"EI?E'“‘ETTFIETHWHT?

& -

y ) .
Which one of the following mendﬂﬂ:tti}:e
the Indian Constitution empow r:. be
President 10 send back a_r:}' fn':?;t:":sters"

i i the council 01 ¢ ]

onsideration 10
rec e

39
:éf 420d (D) 14
el ﬁﬁ‘a‘ﬁmqﬁaﬂﬁ;ﬁq
7 fa o g %ﬂ: CIECAED
- - - = ]Tﬁ = I )
i)q??ﬂ? 5 (B) 444“;
ré;) 47 AD)

: ‘ .
of the following .v-as not

demand © (he 'Prarthand Samaj -

(A) Women EdUCEtliﬂ'He
remariag _ -
Eal;jﬂ?:g the age of marriage for bod

and girls i
(D) Abolition of ulitotlcﬁn?%);_h A

which pne

(C)

(A) w5 fared

42

i Wamahwmﬁaﬁﬁm

GELIERLE
A auﬁﬁﬂﬂff‘“

(D) ¥

7

The first shipment of US crude o1l landed
on which port of India ?

{A) Kandla Port () Mumbai Port
(C)y Rolkata Port (D) Paradip Por
v & fm wafrs & wom A 1 M AT
(oraiva) fom wd 1 s R

(A) &= rd Ry ot 0l

(C) =T qrk (1) v w2

Ram Nath Kovind was swof inas
President of India.

(A) | yib J,H) 14th
(C) 15" (D) 167
T i W ¥ ez 1
(A) 133 (B) 144
(C) 1549 (D) 164

Match List - [ with List - 1] and select the

carrect answer .

List-1 (lndus sites) List-T1 (Places)

a. Lothal I. Rajasthan

b. Ropar 2. Hanand

c. Rakhigarhi i Pun‘jab

d. Kalibangan 4. Gujaral

Codes :

(A) a1, b-2, c-3, d-4

(B) a4 b-3. c-2, d-

(C) a1 b-3, -2, 44

(D) a-h b-3, ¢-1. d-2 . ) |

@-m@,ua\amgﬁ%mmm

Fad 91 ¢
.@_l (fam ) @-“ (ard)

1 T
: —é;:: 7. W@
? “@mﬁ 3 I
Z ﬁrﬁﬁm R
¥ 5 e-3,d
(A ah b=
By b DT
© ol 2. ¢
' 1,42
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61

ensas of India 201 | which

'f:;l:.-nm’- States has the highest s rato
o l.\m. (Bi Tamsil Nadw
ik (M K armatsha

?l):ﬁm. m]. w‘_"m
' ontfos 1

In which wland s ‘1w . the workfs
on gomg mud eruption ?

largest

(A} Madagascar (B Maldives

() Mauntius (D) Indonesia
;s:‘t?"l L L — faryy P
(A) SwrmsT (B) wrady

() sfrym (I et

Conuder the following stat

bt g stalements about
I It conmsists of government
_ people

2 In dﬂmvcr_af_\. those currently in power
have a fair chance of losing

Each vote has one value

clected by

-
L]

Which of above statementis) 15/are cormect” |

(A) T and 2 only (B) 1.2.3

(C) 1 onb (D) 2 and 3 only

ETE & W 4 fam wu ov fren st

I =R & oz Praffen sran @ me
Lo

2 "=A3 4 gdwA O wends A& ol
' wErE &E oA b

3 vEmsAsgu s O fm b

TUGE BUT AR BAE AR 7

(A) a9 | g 2 (B) 1,23

(C) #5728 | (D) %am 2 ua 3

Gross Domestic Product 1s defined as the

value of zll

(A) Final goods and services produced in
an coonomy imoa vear

{B) Goods and senvices produced in an
CLONOMY IN 8 vear

(C) Final goods produced in an economy
il @ vear

(D) Goods produced in an economy in a
year . .

“H®A 9 A @) feeE @ & g &

w7 § ofrwiug feg na b 7

(A) fsdh adagaen a4 ve ad 9 gadag sifim

() ot strmen

Ndwnm'ﬂmﬂﬂ:mfftUm
4 ®am _ _
(C) faeh sdaeen 8 s ad A seirfea sffi

(D) ﬁumﬂmﬁﬂmm
(331

|

of the | &) Which are the exnling carrencies i the

hashet that mabe up Special [Deawing ""'hl\
(SR

(1) The U5 [udlar

i}y The lapanesw Yen

(Y The Hetidh Pounsd

i4) Ihe { hinese Renmin
(5 Ihe Furo

(AY LI (20 (1) and i 4)

(B iy (Y () and 15)

(C) (20 (% 4y and (%)

(I All of the alame

fasafirfogn @ n olvgs® queed ey g g
(e oy wrr) o afrme o wmh R G
(1) 7omgmr

() ward ga

(1) fafrm urpes

(4) wvgdrn Yaftod

(5) gn

(A) (1) (2), (3) shT (a)

(B) (1) (3 (4) o7 (5)

(C) (20 (). (4) o7 (5)

(D) srr

Which one of following areas i India, » a
hotspot of biodiversity

(A} Sunderbans

(B Western (ihats

(C) Fastern Ghats

(D) Gangetic Plains

Wi A fefafer F @ #a @ i ¥ P

& oA e b v

(A) §=1aq (B) ufyed urz
(C) gt awz (1) wm & e
Which vitamin is necessary for blood
clotting 7

(A} Vitlamin A (B) Vitamin D
(C) Vitammn K (I Vitamun ¢
B |1 i tee & gee v & o srayas

| 3
(A) fanfas A (B trrfes D
(C) Faerfts K (D) faeths O

The soil formed by wind dust in and around
hot deserts is called

(A) Silty soul (B L vamy sml
(C) Sandy soil (1 oess soil

md A o W s Ay s ge ym @
w4 il y@ @ wn wm omen b7

(A) aly] ya (B) guH ym
(C) wqd g (D) o w21
LContd...




g

correct ?

Code :

(A) Only (i) and (iii
A (i

(B) Only (i) and um‘

(C) Only (i) and (ii)

(D) All are correct

Wh'lk"h of the rﬁ“““‘in

(i) In3268
(i) Ambhi - ﬁ.”e"'ﬂndgr invad
. (King of ed India.
welcomed Alexande Takshashila)
(i) Alexander died in '«\r'l,'b i
232 BC.

_——"[_'——_

g state
ment s/
are 5
71 The United Nations has declared N7

the International yeas ol ——
(A) Sustainable tourism
(1) Pulses

(C)y Light and light based technod Wics
(D) Soils

CCRIARREL 2017 B e
serieha at df W L3

(A) Tz B F fermel

' :!c\rh-pmrnf

and his men

¥ ford

(i) fE= & 79 332

() Faw ()3 ()

Democracy”?
(A) David Grossman
(B) Ramchandra Guha

(A) % (i) @ (i) (B) %@

Who \_-'rote a .baok named “India after
Gandhi : The History of the World's Largest

38 2 A (B) =H
(i) 326 BCﬁme{ﬁ:{?mt!ﬁ? (€) Wﬂﬂmﬂ-gmﬁﬂaﬁ-ﬁ’ﬁ
for | U HEA (D) fadi
(i) aedr (gEfyen
Tgd) & W gﬂﬂmﬁ e o | 2 The book K itab-ul-Hind' i written by
| (A) Abul-Fazal L) Al-Biruni

BC ¥ &\ (C) Dara Shikeh

(D) Inaya Khan
P w0 il

e (i) @ (i) 7
(D) A @k (A) HA-FFA (B) e L
(C) = fyree () ¥ ur

Which Bank received ss:hedulcd bark status

from Resent Bank of [ndia 10 February

2017 7
(A) Equitas ¢mall finance Bank
(B) Ujjivan small finance Pank

.%;?E : il ;= fired) 3T [E‘E. QB (€) Janalakshmi <mall finance Bank
e A e % "ﬁﬁ [ (D) Suryoday small finance Bank
(a) 3 IELY @) T weady, 2017 ¥ ¥ s @ i foed ¥
(C) WIET BEEIN (D) wiE S agﬁﬁaammﬂﬁm?
g9 Which of the following is not included 10 (A) TR T fad Q'ﬁ

UNESCO'S list © nmangab\e cultura (B) ﬁﬁﬂﬂqfaa ¥%

Heritage of Humanity from nd;a.'.’ (C) e 7Y faa aaa

(A) Ramman (B) gankirtan (D) Far aq fe s

() Bibv (D) Yo#d

i 'E T‘-‘ Fﬁqﬁ f ﬂ‘; et :nrﬁ.% 74 The concept of susxainu'olc development

= . wr = H W:{a\g{a—;‘ relates 1w

(A) b (B) (A) Cmmnn]ﬂinn levels

(&) fat (D) v () F.\lmu-.nhlc pesounees

S ' ['urmtd in C) gocial equi

70 "{gl:;q':z.la"'““ Bharat Sabha W52 :m |tereener ional equity

(,a;, Bfmgat Singh gyl fymin ® eIl i wafieg ¥

B V- D, Savarkaf (A) qqutt €T

& ?ih:f E:&:i s i e 81

{,‘216; ;19{-,131-.1 %’f%ﬂﬂ"“ () L

u: e (B) :‘iﬂfﬂﬂ D) sarddi ¥

sat (P} “
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77

Match the following :
Ashram Age limits
a I‘ir:\hnmclmr_m- 1 Birth 1o 28 years
b Grihavh 2 2510 50 years
€ Vanprasthg 180 10 75 years
d Sanyas b 75 to 100 years
Code :
(A) a4, b3, e, g-)
(B) a-3, by, -2, d-1
(CY a1, -3, ¢2, 4

DY a1, b, o3, e
gafea i -

i

a  aEad I oy @ 25 ok
b g w2 254 50 mi
¢ arw 3osod 75t
d  wam 4 759 100 ¢
i‘[ s
(A) a4, b-3, ¢-2, d-]
(B) a-3, b4, ¢-2, d-)
(C) a-1, b3, ¢-2, d-4
(D) a-1, b-2, ¢-3. d-4

Which of the following can be used 10 store
energy 7
(1) Compressed Air (2) Spring
(3) Banery (4) Capacitor
(A) (4) only .
(B) (2) and (3) only
(C) (2). (3) and (4) only
(D) (1. (2). (3) and (4)
A e st wmem ¥ Rrg g
B wma d 7
(1) witfea ang (2) faim
(3) &zh (4) Hufs
(A) Fam (4)
(B) #&am (2) alr (3)
(C) %@ (2), (3) (4)
(D) (1) (2), (3) = (4)

What are Blue Chip Companies ?

(A) Companies which business in fisheries
seclors,

(B) A Blue Chip Company,
financially,
(C) High risk start-ups.

(D) A company manufacturing memory
card,

“w] P e wn k7

(A) M8 wrd o wew awim @ ol b

(B)qﬁmmw&mﬂhmﬁigﬂw
LG

(C) aftrr shfery wt werd-am |
(D) % woeft s Ay o ey Prsfor e B

is very strong

[33]

8

79

81

12

sciment in land feyve.
varl ey ey
Ihe Ryot _

started by -
;‘:; Henry I)uudns'd
(n) .-'\lcunt!gr P:;:L
() Day id Hicar ‘.]Iphimhmc
(1)) Aountstuart I.. b _—
q Yggmd) q@T E T "
e

fgun a7
wATH
(A) ¥ab T

i
(C) 3fus frers
(D) wrgmEgud i

Which of the following is not a typ,.

9
lgneous rock °

(A) Peridotite (B) Granite

(C) Scoria (D) Shale ‘
ﬁmﬁ'ﬁﬂ}w&mﬂ@?n} _
(A) Fieiagz (B) gz

(C) w=iftar (D) 9=

Which country won the Women's Cr,
ICC World Cup 2017 ? |
(A) India (B) Australia
(C) South Africa (D) Enghm:l_
witen fsdke amd @, fasa = 2017 &= -

T d 7 i}
(A) W@ (B) aiwfam
(C) =for andram (D) $vs

Golden rice s -

(A) A variety of rice grown along
yellow river in China,

(B) Long stored rice having vell .
coloured tint,

(€) A transgenic rice having gene 1.
carotene,

(D) Wild variety of rice with vellow
coloured grains,

T (vesa) qrag 3 -
(A) % ) fd) 8 ¥ gz

W Img wé
® ua Py |
(B) o uny & I th‘gh WY [ﬁg-q) G
ity |

©) % il syegg Y i, R dada
% R o Iwey ¥ |
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Who is the vice-chai
(A) Hasmukh Aﬁ:‘i’;minﬂn} of

S i Y st A 5

NITI A

t ITI Ayog ?

(C) Arvind Pangaria (D) F‘I:ﬁ::v ihukla
v kumar

(C) ¥tfa= wmigm (D) 'm'hu E
The first month of India's nati
< alleds tional calendar
A) Ma
(2] - e
yE F T HHST W aE us!::m
(A) W= (B) 1:|1:|.'qu T
(€) =i (D) ¥= *

g4 The pH of human blood is
) 4{ g {;;]mﬁrr;a_llz :mund
(C) 7.5 - 8.0 (D) 8.5 - 9.0
A T pHl e e e ¥k 7
(A) 4.5 - 5.5 (B) 55-65
(C) 7.5 - 8.0 (D) 85 - 9.0

85 Who is the author of the book "1 Do what
1 Do:On Reform, Rhetoric and Resolve" ?

(A) Sushma Swaraj

(B) Arvind Kejariwal

(C) Arundhati Roy

(D) Raghuram Rajan
i = =

g6 What measures shou

economy 1S going throug

rEEhures'?
l- Direct taxes sho

7. Interest rate
. Public spending shou
Select the correct answer -

Code :
(A) 1 only
(C) 2 and

7a 1% A

B) 2 only
(D) 1 and 2

aﬁiiaﬁﬂﬁcﬁﬁ.wﬁﬁ
(B].aﬁa%ﬁ'ﬂmﬂ
lD)THﬂ“Tﬁ"‘

id be taken when an
k inflationary

|d be Inc Z

-

gy ol & TR

89

91

What is ‘Tez" ?

(A) Ticket Booking App
(B) Digital Payment ApP-

(Cy Train Status tracking APP
(D)) Indian Post ApP
Aw w ¥ ?

(A) fr=z 1{'&‘1‘ L |
(C) 2 ==2W Yeam e (D

following Wwas a

() FafEza AR T
] arrda s TH

Who among the
contemporary of Chingiz Khan 7
(A) Sultan Shamsuddin [Jtutmish
(B) Sultan Sikandar Lodi

(C) Sultan Alauddin K halji

C) USA. Canada and Japag”

(D) USA. UK and India

tﬁ.t{.q'ﬂﬁ,ii.q. ¥ T ¥

(A) 3EE0. i HfEEE

(B) LUFL ATt AT W

(C) 3. Ay S

(D) 4.E . %, ofrg wrd

gupreme Court ruled that the right to p!'i"r'aq'I
na

is an intrinsic part of which fu
right of the Constitution ?
(A) Aricle 19 (B) Amicle 14
(C) Article 20 (D) Anicle 21
e e | Pral B ST 5 =fzEd
¥ P T st B ¥ W k?

(A) g 19 (B) HEr 14
(C) FT=7 20 (D) FT 2!
Which on¢ of the following s an example
of chemical change 7
(A) Burning of paper
(B) Hagncliza'liﬂn ol
(©) Dissululi{wn ut"u.‘:.-:-.n

coft 1ron
o sugar it water
bes from W ater
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e Sothemiieg chemnogd, "y

L]
g sittity nh
4 pwr Mot

A
i LT Mga-pniilet

(.

¢ L Wlver DA rode
A

i LT "‘:]fﬂhlm
Iﬂﬂi 4 & v ur corpe T ]

e )’
tqut’
.1'&"7#"“

() et gy,
AL -

i L f'ﬁ"".ﬂ" b BT
Whe tom hncome 2% dndinn Deensm o M | ag Whah cwe pmoeg the 6 Y

fow WAy Wpe W ke ™

(AL Kmipens (@ hade

(12 NI NPT Wiallemren

LS [T P brags

(MmN Vidhap

™ gef v wlpe gt ) fravi od fope
ST oW 4 owe e wR

(A werm e () whe Sfees
(C) wwdoe dhr wore (1)) @ foem

Which ITT Instityte plans 1o introaduce Vasty
shastta 1o the Architecture Rudent *

(A Crmahat) (H) Mumbg,

) Kharagpar (D Deidy
lﬁtﬂmmntmﬂmmi
W A vart § amitew wTd o e }
(A) Temé (B) sef

1€ wemgr (D) fewé

mmm:«mamma

located 1o
(B) Indoncsia

tA) India
{C) Japan (D) Ching

fmummm-fmmm”

(A) wmrg (B) provdipy
(Cr wyw (D) &4

I'he snie of Hatoppa 13 locet
o the rver
(A) Sarasway
(C) Beas

od 0a the bank

(H) Indus
) Rawy

VS we faw 4d § we g safiga § 1

(
{

133)

A) Brigd
C) vy

(H) hg

D) né

f

N
- mﬁ\ vty Pared

(A) Sasdebaced plant  Partial meg

. fRrerty
| 15‘ Cascuta P“'l-""
(L) Nepenthes Caminvonan
Nuptatyomhy

(D) Muhroom

:
|
| Frednipy 48 e m oy ) gpier o )

L s dw s
Ty
(H) s qrie
(C) Srafn « > wmmerh
(D) wen -~ il

9 Which of the following s not 3 gASECuy ;-
pollutant
(A) Ornades of Sulphur
(B) Onides of Nitrogen
(C) Hydrocarbon

(D) Smoke
manﬁ%—m#hﬁm"‘
(A) wewgr Waogy
(B) orraq & wipngs
(C) ogpady
(D) yx

18 Which of the following states has launched
Operation Durga’ v easuse wormen's safer, '
(A) Mgn Bengal (B) Harvang
W) Uttar Pragesh (D) lh};.ﬂhm

M"’ﬁﬂ'ﬁm"w-l sfita g
TS 2idey wigw St & fioy wreey fgm
(A) timw gy (B) sirge
(C) #0 yan (D) Trme

Cod
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